Test sample

Part I

Complete these sentences by using the correct word from the box. Use each word once only .

There is an example at the beginning(0). There is an extra word which you do not need to use.

Закончите предложения используя подходящее слово из рамки .Используйте каждое слово только один раз. В начале задания дан пример(0). В рамке есть лишнее слово, которое не нужно использовать.

	hamburger                      snacks                   fit                    meals

vegetables                      weight                   food               restaurant




Most British people, if they go out for a meal,

go to their local Indian or Chinese (0).                                (0) restaurant

People often eat fast food such as a (1)                              (1)_________________

Many people are not as (2) and healthy                              (2) _________________

as they could be because they do not eat the right (3)         (3) _________________

It ia important to have three (4) a day.                                (4) _________________

(5) can make you                                                                 (5) _________________

put on (6), especially sugary ones.                                      (6) _________________

                                                                                             Total:

Part 2

Read the following text and look carefully at each line. Some of the lines are correct, and some have a word which should not be there. If a line is correct, put a tick after it. If a line has a word which should not be there, write down this word. There are two examples at the beginning (00 and (00).

Прочитайте следующий текст и внимательно посмотрите на каждую строчку. Некоторые строчки правильные, а другие имеют лишнее слово. Поставьте в конце каждой правильной строки галочку. Выпишите лишние слова напротив строк, где они употреблены. В начале задания даны два примера (0) и (00).

A Letter from Camp 

Dear Alice,

Greetings from Camp Potomac! The camp is on the                          (0) ____________

Potomac river at about 25 miles from Washington.                           (00) at__________

There is also the Chesapeake and Ohio Canal here.                          (7) ____________

Try to saying this strange name quickly. The                                     (8) ____________

big thing here is the canoeing. I was a beginner                                 (9) ____________

in the last year – now I’m intermediate                                              (10)____________

 You can’t swim in the river or the canal. They say                           (11)____________

it’s dangerous. There are snakes in the water.                                    (12) ____________

The food is pretty good. We have French toast                                   (13)____________

for the breakfast. I love it! We sleep in “bunks”-                                (14)____________

little wooden rooms with the 12 beds.                                                (15)____________

I enclose a photo of Angela. She is                                                     (16)___________

from the Great Britain.                                                                        (17)___________

See you soon.

Love,

      Steve

                                                                                                    Total:

Part 3

Read the passage bellow an write the appropriate form of each verb in brackets in the numbered blanks. There is an example at the beginning (0).

Прочитайте отрывок и напишите соответствующую форму каждого глагола, данного в скобках, в отведенное для этого место. В начале задания дан пример.(0)

It (0 be) until 1947, and Jean and Tom                                         (0) was_____________

18 (be going) to get married. But after the                                    (18)_________________

Second World War it was very difficult 19 (buy)                        (19)________________

new clothes in Britain. “20 (not worry),                                       (20)_______________

Jean’s dad said to Tom, “You can 21 (take) my suit.”                  (21)_______________

Jean 22 (remember) an advertisement about                                 (22)_______________

Film Studious three-day wedding hire services.

They 23 (hire) out dresses from films.                                           (23)_______________

She 24 (save) 3 pounds before the war & it was enough.              (24)_______________

Jean 25 (fill) in the form giving them her size.                               (25)_______________

The dress 26 (arrive) in time. It was beautiful,                              (26)______________

and Jean 27 (look) perfectly in it.                                                  (27)______________

Now the have been married for 53 years. They 

always 28 (watch) the old films, because -                                    (28)_______________

who 29 (know) – they might see someone                                      (29)______________

wearing Jean’s dress in a film.

                                                                                                  Total:

Part 4

Use the word given in capitals at the end of each line to form a word that fits the space. There is an example at the beginning (0)/

A Man in Command

It was obvious that Jack was an  important__                                  IMPORTANCE (0)

Man, of considerable _______________and sophistication.           INTELLIGENT (30)

He had an air of ______________ about him.                                 CONFIDENT    (31)

He was not a ______________, but a marketing                             SCIENCE          (32)

Man. He wanted to change the world, at the 

Very least make a _________________.                                        DIFFERENT      (33)

Everything about Jack suggested that he was a man

Of ________________ position. And yet, in his eyes                    IMPRESS           (34)

You saw integrity, ______________, a warm heart and                KIND                 (35)

______________. There was more to Jack than just                     STRONG           (36)

well-tailored suits and the _______________briefcase                EXPENCE          (37)

Paris was the ______________________of everything                CULMINATE    (38)

he had dreamed. He had worked so hard for it,

even if some of it seemed to have come ______________           EASY                  (39)

to him. 

                                                                                                  Total:

Part 5

Paraphrase the following sentences completing the second sentence so that it is equivalent in meaning to the given sentence. You can use between two and five words. There is an example at the beginning (0).

Example:

(0) I advise you to send them a letter of apology.

You should send  them a letter of apology.

40. Don’t expect that I should eat anything there.                                                (40)

      Don’t expect me_______________________there.

41. He had done this, and then he appeared from his room.                                 (41)

      Having ________________, he appeared from his room.

42. She refused to do my homework for me.                                                        (42)

      She said that __________________my homework for me.

43. It seemed that the noise resembled somebody’s sobbing.                               (43)

     The noise __________________________somebody’s sobbing

44. It is possible that they will sell this car.                                                         (44)

     They ____________________ their car.

45. He wants to buy a new computer, but he hasn’t got enough money.                  (45)

      He wishes ______________________enough money to buy a new computer.

                                                                                                           Total:

Part 6

Fill each of the numbered blanks in the following passages. Use only one word in each space. There is an example at the beginning (0)

В следующем отрывке заполните все пронумерованные пропуски подходящими словами. В каждый пропуск можно вставить только одно слово. В начале задания дан пример (0).

Man has used to homing pigeons for thousands (0)                      (0) 0f_______________

years.

All birds navigate by (46) sun and the stars,                                 (46)  _______________

(47) these pigeons can do it better than other birds.                      (47)________________

Five thousand years ago (48) Egyptians used them                       (48)________________

to send news (49) one town to another. It was one of                  (49)_______________

(50) first postcard services.                                                          (50)_______________

(51) ancient Greeks used pigeons, too. They sent                          (51)_______________

them from (52) Olympic games to take the results                         (52)_______________

to people all (53) the country.                                                        (53)_______________

many people keep homing pigeons today (54) a                             (54)_______________

hobby. It is (55) popular sport to race them.                                   (55)_______________

                                                                                        Total:
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